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Supplementary Figure 1. Average prognostic strength of indexing for body size in aorta at sinotubular

diameter.
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Supplementary Figure 2. Average prognostic strength of indexing for body size in aortic sinus diameter.
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Supplementary Figure 3. Average prognostic strength of indexing for body size in aortic arch diameter.

Normal weight

Overweight

BMI <18.5 kg/m?

BMI 18.5-25 kg/m?

BMI 25-30 kg/m?

BMI 240 kg/m?
Weight exponent

Weight exponent Weight exponent

Weight exponent

Weight exponent

Weight exponent

*hw
*BSA'S
«BSA *asp01s

BSAD

O »
unindexed h

Height exponent

*hw
*BSAus
5
+BSA *a5p01s
BSAD

* -
unindexed h

+hw
SBSA's
«BSAY *gopsis
BSA

* *
unindexed h

0 1
Height exponent

*hw
*BSAu1S

+BSAY *Bsanis
BSA>

* *
unindexed h

1
Height exponent

*hw
*BSAu1S

*
+BSA asp01s
SAp
* 4
unindexed h

0 1
Height exponent

*hw
*BSAu1S

+BSAY *Bsanis
SAp
* *
unindexed h

0 1
Height exponent

Weight exponent Weight exponent Weight exponent Weight exponent Weight exponent

Weight exponent

Females
=303

*hw
*#BSAu'S
&5 B§AM BSAo15
BSAo

* *
unindexed h

0
Height exponei

*hw
- BS‘AM‘ 5
«BSAM *Bopnis
BSAo

* *
unindexed h

*hw
*BSAwm15

*
«BSA *psanis
BSAo

* *
unindexed h

0 1
Height exponent

*hw
*BSAS
«BSAM “Bgpns

BSA

* *
unindexed h

0
Height exponet

*hw
*BSAwm1S

«BSA *Bsacs
Sho

* *
unindexed h

0 1
Height exponent

C-statistic
-0.80

~0.75
0.70
0.65
0.60
0.55
0.50




Underweight

Obese Il
BMI 35-40 kg/m?

Obese llI

Supplementary Figure 4. A

Normal weight

Overweight

2

BMI <18.5 k

BMI 18.5-25 kg/m?

BMI 25-30 kg/m?

BMI 240 kg/m?
Weight exponent

Weight exponent Weight exponent Weight exponent Weight exponent

Weight exponent

+hw
*BSA's
«BSAY *gopsis
BSA

. -
unindexed h

Height exponent

*hw
E
5
«BSAY *gopsis
BSA

* *
unindexed h

+hw
+BSA's
+BSA *Bspnts
BSA

* *
unindexed h

0 1
Height exponent

*hw
*BSAu5

*
«BSAY *gopsis
BSA

* *
unindexed h

1
Height exponent

*hw
*BSAu1S

.
+BSA "asp0ns
SAp
* 4
unindexed h

0 1
Height exponent

*hw
*BSAu1S

*
+BSA *Bspnts
5

* *
unindexed h

0 1
Height exponent

Weight exponent Weight exponent Weight exponent Weight exponent Weight exponent

Weight exponent

Females
=3272

*hw
*BSAS
«BSAM “ggpnis

BSAo

* .
unindexed h

0 1
Height exponent

*hw
- BS‘AM‘ 5
«BSAM “Bgpnis
BSAo

* *
unindexed h

*hw
$BSAS
«BSA *sanis

BSAo

* *
unindexed h

0 1
Height exponent

*hw
*BSAwm15

*
«BSAM *Bgpnis
BSAo

* *
unindexed h

0
Height exponei

*hw
*BSAwm15

*
«BSA "sanis
0

4 4
unindexed h

0
Height exponei

*hw
*BSAwm15

*
«BSA *psanis
:

* *
unindexed h

0 1
Height exponent

rage prognostic strength of indexing for body size in aortic root diameter.

C-statistic
-0.80

~0.75
0.70
0.65
0.60
0.55
0.50




Underweight

Obese Il
BMI 35-40 kg/m?

Obese llI

Normal weight

Overweight

2

BMI <18.5 ki

BMI 18.5-25 kg/m?

BMI 25-30 kg/m?

BMI 240 kg/m?
Weight exponent

Weight exponent Weight exponent Weight exponent Weight exponent

Weight exponent

+hw
*BSA's
«BSAY *gopsis
BSA

. -
unindexed h

1
Height exponent

*hw
E
5
«BSAY *gopsis
BSA

* *
unindexed h

0 1
Height exponent

*hw
OBS‘ANH 5
+BSA *Bspts

BSA

* *
unindexed h

0 1
Height exponent

*hw
*BSAu5

*
«BSAY *gopsis
BSA

* *
unindexed h

1
Height exponent

*hw
*BSAu1S

-
+BSA "asp0ns
SAp
* 4
unindexed h

0 1
Height exponent

*hw
*BSAu1S

*
+BSA *Bspnts
5

* *
unindexed h

0 1
Height exponent

Weight exponent Weight exponent Weight exponent Weight exponent Weight exponent

Weight exponent

Females
=1770

*hw
*BSAS
«BSAM *gopns

BSA

* *
unindexed h

0 1
Height exponent

*hw
*BSAwm15

-
«BSAM *ggpnis
BSAo

* .
unindexed h

0 1
Height exponent

*hw
*BSAwm15

*
«BSAY *Bsanis
BSAo

* *
unindexed h

C-statistic

-0.80

0 1 ~0.75
Height exponent 0.70

0.65
0.60
0.55

*hw
*BSAS
«BSAM *Bgpns

BSAo

* *
unindexed h

0 1
Height exponent

* hw
+BSAWS
«BSA "sanis
B

* *
unindexed h

0 1
Height exponent

Height exponent

Supplementary Figure 5. Average prognostic strength of indexing for body size in ascending aorta diameter.
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Supplementary Figure 6. Average prognostic strength of indexing for body size in IVS thickness.
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Supplementary Figure 7. Average prognostic strength of indexing for body size in LA area.
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Supplementary Figure 8. Average prognostic strength of indexing for body size in LA diameter.
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Supplementary Figure 9. Average prognostic strength of indexing for body size in LA volume.
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Supplementary Figure 10. Average prognostic strength of indexing for body size in LV end-diastolic

diameter.
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Supplementary Figure 11. Average prognostic strength of indexing for body size in LV end-diastolic volume.
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Supplementary Figure 12. Average prognostic strength of indexing for body size in LV mass.
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Supplementary Figure 13. Average prognostic strength of indexing for body size in RA area.
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Supplementary Figure 14. Average prognostic strength of indexing for body size in RV diameter. Data for
BMI <18.5 and > 30 kg/m* are not shown due to insufficient sample sizes.
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Supplementary Figure 15. Kaplan-Meir curves for 5-year cardiovascular mortality for aorta at sinotubular diameter unindexed,
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indexed by BSA and indexed by height?”7.
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Supplementary Figure 16. Kaplan-Meir curves for 5-year cardiovascular mortality for aortic sinus diameter unindexed, indexed by BSA and indexed by height?’.
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Supplementary Figure 17. Kaplan-Meir curves for 5-year cardiovascular mortality for aortic arch diameter unindexed, indexed by BSA and indexed by height?7.
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Supplementary Figure 18. Kaplan-Meir curves for 5-year cardiovascular mortality for aortic root diameter unindexed, indexed by BSA and indexed by height?”7.
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Supplementary Figure 19. Kaplan-Meir curves for 5-year cardiovascular mortality for ascending aorta diameter unindexed, indexed by BSA and indexed by height?’.
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Supplementary Figure 20. Kaplan-Meir curves for 5-year cardiovascular mortality for IVS thickness unindexed, indexed by BSA and indexed by height?’.
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Supplementary Figure 21. Kaplan-Meir curves for 5-year cardiovascular mortality for LA area unindexed, indexed by BSA and indexed by height>”.

1.0 1.0 10
__ I e S
0.9 e 09 : TTT e oo —— - 09 e mee L.
2 2z = -
308 ) g08 308
° S 3 . e
; g £ | — Lowest tertile
g g g
E 0.7 ; 0.7 N ) § 07
% 7] %)
= Middle tertile
0.6 0.6 0.6
- - Highest tertile
05 05 0.
0 1 2 3 4 5 0 1 2 3 4 5 0 1 2 3 4 5
Duration of follow up (Years) Duration of follow up (Years) Duration of follow up (Years)
o= | 7530 657 (78) 602 (124) 558 (162) 532 (183) 502 (208) = | 753 (0) 663 (75) 614 (117) 576 (149) 552 (169) 527 (190) @ = | 753 (0) 658 (80) 609 (122) 573 (152) 552 (171) 530 (189)
g == | 753 (0) 642 (78) 566 (142) 518 (180) 484 (209) 454 (235) g == | 753 (0) 635 (81) 562 (143) 512 (182) 479 (209) 450 (234) g == | 753 (0) 635 (82) 565 (139) 511 (177) 473 (205) 441 (233)
D == | 753 (0) 546 (122) 456 (167) 384 (206) 330 (241) 296 (262) O == | 753 (0) 547 (122) 448 (173) 372 (217) 315 (255) 275 (281) P == | 753 (0) 552 (116) 450 (172) 376 (219) 321 (257) 281 (283)
0 1 2 3 4 5 0 1 2 3 4 5 0 1 2 3 4 5
Duration of follow up (Years) Duration of follow up (Years) Duration of follow up (Years)
1.0
0.9
2os 208 2os
Q Q2 Q2
[} o [
o o o
g g s
o7 07 07
5 5 5
12} [2] 2]
0.6 06 06
0.5 0.5 05
0 1 2 3 4 5 0 1 2 3 4 5 0 1 2 3 4 5
Duration of follow up (Years) Duration of follow up (Years) Duration of follow up (Years)
@ = |9533 (13) 18231 (1015) 17541 (1572) 16925 (2078) 16405 (2485) 15999 (281 g = 9533 (14) 18326 (950) 17682 (1480) 17143 (1928) 16663 (2304) 16294 (260, g = |9533 (13) 18309 (972) 17646 (1515) 17111 (1966) 16629 (2341) 16250 (2641
B == 119532 (4) 18000 (1025) 17115 (1635) 16370 (2163) 15756 (2605) 15205 (296 © == [19532 (4) 18084 (986) 17231 (1595) 16505 (2129) 15893 (2583) 15349 (295 8 = (19532 (5) 17980 (1044) 17118 (1657) 16357 (2206) 15754 (2657) 15232 (301
O == (19532 (4) 17205 (1253) 15809 (2096) 14615 (2836) 13604 (3483) 12686 (4020 D == [19532 (3) 17026 (1357) 15552 (2228) 14262 (3020) 13209 (3686) 12247 (425 O == [19532 (3) 17147 (1277) 15701 (2131) 14442 (2905) 13382 (3575) 12408 (415
0 1 2 3 4 5 0 1 2 3 4 5 0 1 2 3 4 5
Duration of follow up (Years) Duration of follow up (Years) Duration of follow up (Years)
1.0
0.9
2 2 2
§os §os §os
3 3 3
o [} [
o o o
g g g
Zo7 07 go07
5 5 5
(%) %) %)
0.6 06 06
0.5 05 05
0 1 2 3 4 5 0 1 2 3 4 5 0 1 2 3 4 5
Duration of follow up (Years) Duration of follow up (Years) Duration of follow up (Years)
@ = 9914 (3) 9364 (390) 9047 (634) 8768 (846) 8536 (1025) 8335 (118C g = |9914 (1) 9392 (366) 9076 (615) 8784 (845) 8557 (1018) 8380 (1146 @ = 9914 (1) 9392 (375) 9097 (607) 8824 (817) 8585 (1001) 8415 (113C
S = (991 7 ) 5 1287 S == 7 51 578 (887 71 (1115, 7 c O o= (9913 5 1 4 7
S 9913 (2 9371 (338, 8994 (601 8620 (860 8305 (1094 8044 (128 f 9913 (4 9311 (38 8951 (632 8578 (88 8271 (111 983 (133¢ S 9913 (4) 9338 (362 8969 (621 8589 (880 8312 (108 8022 (129
D == 9913 (2) 9108 (467) 8574 (815) 8027 (1169) 7574 (1459) 7172 (1726 D == (9913 (2) 9140 (442) 8588 (803) 8053 (1143) 7587 (1445) 7188 (1712 @ == (9913 (2) 9113 (458) 8549 (822) 8002 (1178) 7518 (1493) 7114 (176€
0 1 4 5 0 1 4 5 0 1 4 5



Underweight

Normal/overweight

Obese I-llI

BMI <18.5 kg/m?2

BMI 18.5-30 kg/m?

BMI 230 kg/m?

Unindexed

Indexed by BSA

Indexed by height?’

2 3
Duration of follow up (Years)

2 3
Duration of follow up (Years)

1.0 Co— 10 10
_-__"—~~- T~ .= —_- . __—_‘——-————_
0.9 T 09 . T 09
z | e = =
ol e T 7%
[ <] T ° H
; g ¢ | — Lowest tertile
g g g
g 0.7 ; 0.7 § 0.7
(7] a (7]
— Middle tertile
0.6 0.6 0.6
- - Highest tertile
0.5 0.5 0.
0 1 2 3 4 5 0 1 2 3 4 5 0 1 2 3 4 5
Duration of follow up (Years) Duration of follow up (Years) Duration of follow up (Years)
a=|77200 681 (78) 640 (112) 595 (152) 575 (168) 554 (188) = | 772(0) 696 (67) 660 (98) 616 (135) 594 (154) 573(175) @ = | 772(0) 696 (66) 658 (100) 617 (135) 593 (155) 575 (174)
g - | 772 (1) 686 (66) 637 (101) 599 (127) 565 (156) 536 (179) g - 772 (1) 679 (77) 634 (110) 593 (140) 557 (166) 532 (186) g - 772 (1) 681 (74) 640 (105) 602 (134) 570 (157) 547 (175)
D == | 771(0) 614 (101) 546 (139) 486 (175) 440 (206) 405 (228) O == | 771 (0) 606 (101) 529 (144) 471 (179) 429 (210) 390 (234) P == | 771(0) 604 (105) 525 (147) 461 (185) 417 (218) 373 (246)
0 1 3 4 5 0 1 2 3 4 5 0 1 2 3 4 5
Duration of follow up (Years) Duration of follow up (Years) Duration of follow up (Years)
1.0 — 1.0
0.9 Tt 0.9
2z z =
2os 208 2os
Q Q2 Q2
<) <] o
o o o
E T 3
o7 07 07
5 5 5
12} [2] 2]
0.6 0.6 06
0.5 0.5 05
0 1 2 3 4 5 0 1 2 3 4 5 0 1 2 3 4 5
Duration of follow up (Years) Duration of follow up (Years) Duration of follow up (Years)
@ = [19809 (6) 18840 (780) 18315 (1187) 17850 (1531) 17410 (1866) 17047 (213 g = [19809 (6) 18903 (734) 18437 (1107) 18028 (1414) 17607 (1739) 17283 (199 g = [19809 (6) 18830 (788) 18335 (1183) 17912 (1498) 17498 (1821) 17151 (208
S == (19808 (1) 18668 (819) 18011 (1268) 17419 (1676) 16871 (2061) 16367 (2411 S == [19808 (1) 18710 (800) 18031 (1284) 17417 (1722) 16880 (2105) 16391 (2451 S == 19808 (1) 18655 (814) 17918 (1337) 17276 (1800) 16708 (2206) 16206 (256
O == (19808 (0) 17920 (1058) 16662 (1813) 15517 (2524) 14559 (3119) 13680 (364 @ == [19808 (0) 17815 (1123) 16520 (1877) 15341 (2595) 14353 (3202) 13420 (375 9 == [19808 (0) 17943 (1055) 16735 (1748) 15598 (2433) 14634 (3019) 13737 (355
0 1 2 3 4 5 0 1 2 3 4 5 0 1 2 3 4 5
Duration of follow up (Years) Duration of follow up (Years) Duration of follow up (Years)
1.0 10
0.9 0.9
2 2 2
§os §os §os
8 S 8
<) <] S
o o o
3 T 3
o7 07 07
5 5 5
%} % (7]
0.6 0.6 06
0.5 0.5 0.5
0 1 2 3 4 5 0 1 2 3 4 5 0 1 2 3 4 5
Duration of follow up (Years) Duration of follow up (Years) Duration of follow up (Years)
@ == 9238 (0) 8924 (232) 8691 (414) 8453 (599) 8265 (750) 8090 (899 g == |9238 (0) 8923 (236) 8684 (413) 8444 (601) 8252 (756) 8084 (897 g == |9238 (0) 8905 (242) 8663 (426) 8435 (600) 8259 (743) 8090 (884
T = (9238 (0) 8843 (270) 8566 (463) 8293 (644) 8049 (827) 7845 (986§ w= (9238 (1) 8851 (257) 8585 (452) 8317 (637) 8075 (814) 7859 (984 © m= (9238 (1) 8822 (275) 8544 (476) 8227 (693) 7964 (889) 7731 (1062
D == 9237 (2) 8624 (345) 8177 (619) 7724 (889) 7357 (1128) 7003 (135 D == (9237 (1) 8617 (354) 8165 (631) 7709 (894) 7344 (1135) 6995 (1354 O == (9237 (1) 8664 (330) 8227 (594) 7808 (839) 7448 (1073) 7117 (128¢
0 1 4 5 0 1 4 5 0 1 4 5

2 3
Duration of follow up (Years)

Supplementary Figure 22. Kaplan-Meir curves for 5-year cardiovascular mortality for LA diameter unindexed, indexed by BSA and indexed by height?’.
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Supplementary Figure 23. Kaplan-Meir curves for 5-year cardiovascular mortality for LA volume unindexed, indexed by BSA and indexed by height?’.
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Supplementary Figure 24. Kaplan-Meir curves for 5-year cardiovascular mortality for LV end-diastolic diameter unindexed, indexed by BSA and indexed by height?”.
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Supplementary Figure 25. Kaplan-Meir curves for 5-year cardiovascular mortality for LV end-diastolic volume unindexed, indexed by BSA and indexed by height?’.
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Supplementary Figure 26. Kaplan-Meir curves for 5-year cardiovascular mortality for LV mass unindexed, indexed by BSA and indexed by height>”.
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Supplementary Figure 27. Kaplan-Meir curves for 5-year cardiovascular mortality for RA area unindexed, indexed by BSA and indexed by height?’.
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Supplementary Figure 28. Kaplan-Meir curves for 5-year cardiovascular mortality for RV diameter unindexed, indexed by BSA and indexed by height?”.
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